
ASTR368
The Milky Way









Herschel (1738-1822) found that the Milky Way 
was shaped something like an amoeba/frisbee 5,000 
pc across with the Sun nearly in the center.
Did correctly figure out that it was a disk!



Kapteyn Universe

•Galaxy ~15kpc in diameter
• Sun 650pc from center
• Density decreases from center



Why doesn’t this method work???

Hint:



Shapley’s Milky Way
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The Milky Way in Visible Light



The Milky Way in Infrared Light

There is less absorption by dust in the infrared.













Edge-on Representation of the Milky Way

1pc ~ 3ly



Thin and Thick Disks

Thick disk number density is lower than that of thin disk
Thick disk has older stars, because only the older stars have had time 
to migrate from their birth sites in the thin disk.





Stellar Streams in the Halo/Disk



At large distances, halo (dark matter) dominates



Cool Halo – High Velocity Clouds





Fermi (Gamma Ray) Bubbles



Milky Way Bar shown in Bulge 
Asymmetry







Galactic Center Black Hole



Sgr A* Imaged!





Galactic Coordinates
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Galactic Center Cylindrical Coordinates



Observations of Stars Show



Radial (solid) and 
transverse (dashed) 
velocities as a function of l.
Dependence is sin (2l)



Milky Way

Other galaxy



Θ = 237km/s-1.4km/s*R (for R>3.7 kpc)






